Swpklijwl thuwunwgh mnlnuwnpniypn gnyg k mmwhu, pl npputt jupdttw Juplp
hwgwjunpnh hwdwp nnnuwgnidwpubpp b wy J€wpubpp vwhdwiudws
dudljtwnubpnid b suthbpny juwnwpbint nhuypnid:

Swipklwl thuuwnwgh ninnuwppnyph hwpyuplh ophbual.

i-f K
o

I —nwpbiwl thuuwnwgh winnuunpnypl L npp Jupluenih phnphwinip Swhiub L
wpunuwhuynyws npudugpyus Juplh nupklub ninhnuny, b npb hop ko
wwpniiimlnid F popnp winynubkpl ni wyy Jdwpnidakpp, npnip vuyunnnp wwipuunp
Edwuply Juphh vinugdwl, hiswbu wl npu gnpénnnipyul nne plhpugpniu:

A — uwwpnphll mpudwinpnyng Juplhh ulgpinului gnidup

n - uplh dwpdwbh manyws Jdwph phyp:

N —duipfp dhupilwbb nipnijwé ydwph phijp.

Kn -juphh dwupdwih nignywé n-pn Jdwph gnidupp.

Dn—yjuiplh nnpudunpuwi ophg Upbsl Jupyh dwupdwih nignywd n-pn Jdwph
Junnwpifwl opp phlwé dudwhmlmhwnywdp wpinwhwyngws opkph piny:

Quiumnwgh wnupklwl wnninuwgpnyph hwsyuplh ophbul).

hgnip hudwpunpphl npudwgpynid 2,000,000 22 gpund gnidwph suithny nulin:
gnuijunpdudp Jupl, 3 wdhu dupdwl dudjEnny, nupbiuwb 13% nnfnuwnpnypny,
Juplyh dwpnidp dudlnh Jeponid, nnynuwgnidwupblbph qubdnidp’ Juplp
unwbiuynt wwhhl widpnne dudwbwjuhunywsh hwdwp

Zwdwfunpph Swpuubpl i

Juwpluyhl huywnp ntumdinuuppnipjul, Jupluyhi hwpyh Jupdwh b vywuwpldui
Uholnpnuydwn ' 10,000 22 ppud,

Syjuy Juplhh nnupklul thwunwgh nunnuwnpnypp fhwglh 16,11% :

Qhgnip hudwpinpphl npudwgpynid F 2,000,000 22 gpud nidwph swhng nulint
gnuijunpdudp Jupl, 24 widhu dupdwl dudlnny, nmupklwb 17% wninuunpniypni,
Juplyh dwupnidp dudlbnh Jeponid, nnnfnuwgnidwupblbph qubdnidp ' wduwljub

Zwdwfunpph Swifuubph Ea°

Jupluyhl huywnp nrundinuuppnipiul, Jupluyhi hwosdh Jupdwb b vwwuwpdui
Uholinppuijdwp 10,000 22 gpud,

Sy Juplhh nmupklul huunwgh nnnuwnpnypp [hwglh 21.56% :



